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Geometry Bundle 7 Test Review

1. In the diagram below, B is the midpoint of AC,

DA 1L AC, EC 1 AC, and DA=EC. Which
theorem may be used to prove ADAB =~ AECB?

D E

5AS

A ' B ' C

2. In the accompanying diagram, PR~ @
PR L R) and SQ 1 RQ. Which theorem can
be used to prove that APQR = ASRQ?
P S

SAS

R ) Q

3. In the diagram of quadrilateral ABCD, diagonal
AC bisects ZBAD and ZBCD. Which theorem
can be used to prove that AABC = AADC?
(G.10B)

B ASA
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4.

5.

6.

In the diagram of triangles BAT and FLU,
/B = /ZF and BA = FL. Which statement do
you needed to prove ABAT = AFLU Angle-
Side-Angle(ASA)?

LAZLL U

If AJKL = AMNO, identify all pairs of congruent
corresponding; parts. (Draw your own picture)
M

VARRAN

In the diagram below, AABC = AXYZ. |dentify all
pairs of congruent corresponding parts.

LAS LX 5

LRZLY

LC=L? A
AR XY
RCZ Yz

ic < v Y



7. Complete the proof.

Given: A_D;E—B and £1 = /2

Prove: ZADC = Z/EBC

A E
B D
C

Statement Reason
1. AD=EB 1. Gwen
2. /1=/2 2. Cwen
3. Le= Le 3. Refl. prop. =
4. NACD = ANECB 4. ARGS
5. /ADC= Z/EBC 5 cectcr

8. Complete the proof.

Given: VW =GU, VU = GW
Prove: Z/V=~ /G

RNEAN

w

U

Statement Reason
1. w Ty 1. Given
2. vy % Gw 2. Given
3_ W_U;U_W 3 RePl. prop. =
4. AVWU = AGUW | 4. s<s
5. zV=/G 5. creTe
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9. Give an example of enough information to prove
that AABC = ADEF using the Angle-Angle-Side
(AAS) Congruence Theorem.

(hint: Draw a picture) A b)

FANNAY

For problems 12 — 15, select the theorem that
can be used to prove the triangles congruent.

10.
% none

11

12

13

- X AAS
\Q\j hone
@ sss



14. If APQR = AXYZ, PQ =7a + 8, and 16. Given: HK bisects IL and Z/H= /K
XY = 11a —-20. Find a and PQ. Prove: AHIJ = AKLJ

(hint: draw a picture before settlng up the equation)

/ K
5o M J
S s‘
Q R H L
atg =lla-20 Statement Reason
_K a 1. HK bisects IL 1. Gwen
T o 2. HI=KJ 2. Def Seg bisector
TQE_ Lfa+go 3. LW =LK 3. Given
4. L1yuz LKL 4. Vertical /s are =
@=Ha g 5. AHIJ = AKLJ 5. Ash
T

15. Complete the proof.

Given: E is the midpoint of AB, and

£A= 2B 17. Complete each congruence statement by
Prove: ADE = ABCE naming the corresponding angle or side.
A c AWVU = AGHI
w v I
E
D B
Statement Reason v ¢ H
1. E is +he midpont of A_g 1. Civen
W=7
2. LAZ LR 2. Cen W LG
3. /4_E = E_B 3. Def. of mudpownt
4. /AED= /BEC 4. Def. of yerk. L
5. AADE ~ ABCE 5. ASA 18. Write a statement that indicates that the
triangles in each pair are congruent.

NG

ABLD= AGHT
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19. Mark the angles and sides of each pair of
triangles to indicate that they are congruent.

ABDC = AMLK

D M
B C
20. Find mz«cC.
:{e) A
- T
- LH 41°
Toc° 105°
B<)) 74° R <k
7‘f°
S
miC =105°

For 21-26, state if the two triangles are congruent. If

they are, state how you know. (SSS, ASA, SAS,
AAS, or HL)

2. AEFH, AGHF
57 |
G H
22. APQT, ASRT

% nong
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23. ADEF = ADGF

E
/\\ SSS
F D
G
24. AABC, ADBC
AAS

25. AXYZ, AJKL

26. ARSV, AUTV

R S
>;<i
U T

27. Decide whether you can use the given
information to prove that AABC = ADEF.

LA = /LD, LC = LF.AC =DF

A D
B C

\>

HGS} because ASA



